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Notes 4.5

Warmup - State the domain and the vertical asymptote for each given equation.

_ x=-2 _ x+6 - (x=7)(x+10)
1. y= (x=2)(x+5) 2. y= (x—4)(x+6) 3. y (x+10)(x=3)(x=7)
VA: X = 2 -5 VA: X = 4, —l vA: X=*10,37]
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Investigation

Think about how fractions are reduced? Apply the same rules to the three equations from the
warmup to simplify each equation.
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Each of these equations only has one vertical asymptote, which asymptote do you think is the one
you would use to graph?
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Multiplying and dividing rational expressions
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